log (AY/Y) CIE Y sensitivity

log [(AY/Y) I (AYIY),]  CIE Y sensitivity

S=AvIY S/S,=AYMIAYY), hormalized to AY,/Y,,
1410 | *= 116(Y/Y,)"® - 16 (Y,=100, 1< Y < 100) [Le] 24100 * = 116(Y/Y,)"/® - 16 (Y,=100, 1< Y < 100) [1]
dv/Y = (3/116) Y, 3y [2e] dY/IY = (3/116) (YIY, )2 (2]
dviy=cy e [3€] dviy=cy 31
o], avrv= d-(vry,) 3 [4e] d o dvy=a (Yryy) e [4f)
€=0,120 d=0,824 56 €=0,120 d=0,824 57
—— 2,640
application L]
0,120 applic -
-1301 bl Oflm = = o m = m == =T T~ 0,568
d¥7Y,=0,04 m,=-0,33 ~ ool YIS0 633 R oS
V=16, dY,=0,63, (VIN,)=0,045 =~ 0 025 Y,=18 dY;=0,83, (Y/¥,)=0,045 ! ?e?r%ugauon
= 0,1 1 10 .Yu—18100Y B 0,1 1 10 'Y,=18100y
-2 -1 0 1 2 logY -2 -1 0 1 2 logY
heb70-5a heb70-6a
log (Y/AY) CIE Y-based contrast | |log [(Y/AY)/ (Y/AY,)] CIE Y-based contrast
C,=YIAY " C,/C=(YIAY)/(YIAY), normalized to Yy, IAY,
L*= 116(Y/¥p) ™~ 16 (¥,=100, 1< ¥ < 100)[1g] 24100+ = 116(Y/Y,) % - 16 5 (¥n=100, 1< Y £ 100) [1h]
Yidy= (3/116) Y,y [29] Yidy = (3/116) Y, Yy [2h]
vidY=e (V1Y) - [30] YIdY = e (YIYy)? [3h]
YIdY = £+ (YIY,) [40] YidY = £ (V1Y) ?? [4h]
24100 e = 833,048 1410 Y
= 5721,613 5 e = 833,048 =
Y218, dY,20,83, /dY,)=02 386 B f=5r21,613 fsh
| lg(AV)F13AMA033 e Y,18, dY,=0,83, //dY,)=22 1,757
83 _="" 1 log[(Y/dY)/(Y/dY),]=0, ;;=0,33 _ = *®
1410 . V|| ofae SELEIMT TS TNTDT g
' application 0’37—8‘ - application
' range '
o 0.1 1 10 1Y,=18100y P 0,1 1 10 'Y,=18100y
-2 -1 0 1 2 logY -2 -1 0 1 2 logY

heb70-7a

heb70-

8a

heb70-7n




